CH1010

Tutorial  4 Answers

1. 
Place asterisks at all the chirality centers (stereocentres) in the molecule below.
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ANS:


[image: image2.png]




(   What class of compound would you expect this molecule which is extracted from plants to 
 
    belong to?

Alkaloid – it is an amine extracted from plants called codeine.

2.
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Sugar 1


Sugar 2


Sugar 3


From the sugars above, choose the one that best fits each description below.  Place the identifier of the sugar in the blank to the left of the description.


__________ is a D-sugar.



__________ a deoxy sugar.



__________ a triose sugar.
ANS:
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3.  Draw a Fischer projection of D-mannose and a Haworth projection of -D-mannopyranose.


[image: image5.wmf]C

H

O

H

H

O

H

H

O

O

H

H

O

H

H

C

H

2

O

H

O

H

O

H

O

H

H

H

O

H

H

O

H

H

C

H

2

O

H




4.   Define the isoelectric point of a protein.
ANS:


The isoelectric point is the pH at which a protein there is net charge on the protein is zero meaning that the positive and negative charges on the side chains cancel each other out. 


 5.
At what pH would you carry out a gel electrophoresis experiment if you wanted to   
 
separate a mixture of lysine (pI 9.74), aspartic acid (pI 2.98) and phenylalanine (pI 5.48)?   
 
Explain your decision (remember that an important factor in separation by electrophoresis 
 
is charge).
ANS:


The optimum pH for the electrophoresis of three amino acids occurs at the isoelectric point of the amino acid intermediate in acidity.  At this pH, one amino acid migrates toward the cathode (the least acidic), one migrates toward the anode (the most acidic), and the amino acid intermediate in acidity does not migrate.  In this example, electrophoresis at 5.48 allows the maximum separation of the three amino acids.
6.
Porcine dynorphin is a neuropeptide having 17 amino acid residues:
Tyr-Gly-Gly-Phe-Leu-Arg-Arg-Ile-Arg-Pro-Lys-Leu-Lys-Trp-Asp-Asn-Gln


Leu5-enkephalin is a pentapeptide contained as the N-terminal sequence of dynorphin.  What is the primary structure of Leu5-enkephalin?
ANS:


Tyr-Gly-Gly-Phe-Leu





















































_1141825786.cdx

_1141826279.cdx

_1141824743.cdx

